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Examining Number Sets

Name:

Using the set of numbersfind the mean (rounded to the nearest tenth),

median, mode and range.

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

30,30,21,40,38,31

37,34,24,36,34

72,72,60,69,63,73

16,15,8,23,23

95,95,86,78,85, 82

25,21,24,25,30

50,50,55,48,47,65

25,20,20,25,20

72,72,85,83,81,84

45,43,50,45,52

Answers

10.
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Using the set of numbersfind the mean (rounded to the nearest tenth),

Examining Number Sets

Name:. Answer Key

median, mode and range.

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

30,30,21,40,38,31

mean: 190+6 = 31.7

median: 21, 30, 30, 305, 31, 38, 40
mode: 30 = 2x

range: 40 - 21 =19

37,34,24,36, 34
mean:; 165+5 = 33

median: 24, 34,34, 36, 37
mode: 34 = 2x

range: 37-24=13

72,72,60,69,63, 73

mean: 409+6 = 68.2

median: 60, 63, 69, 705, 72,72, 73
mode:; 72 = 2x

range: 73-60 =13

16,15,8, 23,23
mean:; 85+5=17
median: 8, 15, 16, 23, 23
mode; 23 = 2x

range: 23-8=15

95,95,86,78,85,82

mean:; 521+6 = 86.8

median: 78, 82, 85, 855,86, 95, 95
mode: 95 = 2x

range: 95- 78 =17

25,21,24,25,30
mean:; 125+5=25

median: 21, 24,25, 25, 30
mode: 25 = 2x

range: 30-21=9

50,50,55, 48, 47,65
mean:; 315+6 = 52.5

median: 47 , 48, 50, 50, 50, 55, 65
mode: 50 = 2x

range: 65 - 47 = 18

25,20,20,25,20
mean; 110+5= 22

median: 20, 20, 20, 25, 25
mode: 20 = 3x

range: 25-20=5

72,72,85,83,81,84
mean:; 477+6 = 79.5

median: 72,72,81,82,83,84,85
mode: 72 = 2x

range: 85-72=13

45,43,50, 45,52
mean; 235+5 =47

median: 43,45, 45,50, 52
mode: 45 = 2x

range: 52-43=9

Answers

1 317 305 30 19

2. 33 34  HA 13

3 682 705 72 13

s 17 16 23 15

5. 86.8 855 95 17

. 25 25 25 9

7. 925 50 50 18

g 22 20 20 5

9. 795 82 72 13

10. 47 45 45 9
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